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DIRECTIONS: (Question No. 1 to 6) Study the following
information and answer the questions.

Seven people namely Ashok, Babloo, Chandu, Deewakar,
Eashwar, Fakir and Guddu have a meeting on seven different
days of the same week namely Monday, Tuesday, Wednesday,
Thursday, Friday, Saturday and Sunday but not necessarily in the
same order. Each person also likes seven different colors namely
Green,- Grey, White, Black, Orange, Pink and Blue but not
necessary in the same order.

Chandu likes grey and has a meeting on Monday. Only one
person has meeting between Chandu and the one who likes
Black. The person in between these two likes green. Only three
people have their meeting between Deewaker and Babloo.
Babloo has a meeting on Saturday. The one who likes orange has
a meeting on Thursday. Eshwar likes black and has his meeting
immediately after Deewaker.

Neither Guddu nor Fakir likes blue. Fakir likes white and

has a meeting on one of the days after Eshwar. Guddu likes
pink colour and has a meeting on Sunday.

1. Which of the following combmatlon is definitely correct:

(A) Saturday Ashok — Black

(B) Tuesday — Deewaker — Green
(C) Tuesday — Guddu — Pink

(D) Monday — Babloo — Black

2. Which of the following represents the day on which
Ashok has the meeting:

(A) Monday
(C) Thursday

(B) Wednesday
(D) Saturday

3. Based on the given arrangement which of the
following statements is true?

(A) Ashok has a meeting on Tuesday

(B) Chandu has a meeting on Wednesday
(C) Ashok likes black color

(D) Babloo likes blue color

4.  Which of the following color does Ashok like?

(A) White (B) Blue
(C) Orange (D) Grey
5.. Who amongst the following has a meeting on Tuesday?
(A) Ashok (B) Eshwar
(C) Deewakar (D) Guddu

6. Which of the following group has a combination liking
of color similar to Indian national flag of tricolor?
(A) Ashok, Fakir, Eshwar
(B) Ashok, Babloo, Fakir
(C) Chandu, Guddu, Eahswar
(D) Ashok, Fakir, Deewakar

7. 1f63+25=16, 12+18=12 and 23+17=13, then 54+22 = ___

(A) 13 (B) 17
(C) 19 (D) 20

[31]

PART-I/ T - | (General Intelligence /@ i)

Fée (w7 d@@m 1 @ 6) Frafafes gamel & @@ w el B

I
@ e T s, s, w, dEy, S, E
U Eg Th 8 " - QAR A9ER, gUER, geehEn,
AT, AMER T AR, wﬁ%ﬁﬁ%mm%
ERCE Choe I G Gl i R o e o i G
&1, 93, "he, BT, T, [, @ A 6 B §
St 6 ormasw T8 % IE w9 A e

g, U THS HA & TF I6F do% QAR B ¥ dad Th
Fth H JoF oG, T3 SN FIeN T F 8, I AA B
A & Ay AT @Rh B0 THS S 81 dad oW ared #l
de% dar AT g9 B AE B 99 A e AE B
Fith S A0 UER FA & IHD! doF FeedET B 81 F9T
Fel TG HA & U IaH JoF dAHT F g AE B

T A EE A A G A g B E BER d9E TR
FE & U IR doF W B A Bl RA B ey e
T qH= HY & AN I oF PR B R

1. ﬁwﬁmﬁaﬁw—wmﬁﬁmmaw%
afET - STaE - SR
{B) HEEar - AT - B

(C) WEEN - gg - TS
(D) EHA - e - Hrell

2. frafofaa & @ s9-wr Ra sfiffce s @ B R a0
B JoF &:

() FrEr (B) JR
(C)Wﬁﬁm (D) afE

3. ﬁﬁg@m@ﬁ%@mwﬁﬂﬁmaﬁﬂﬂ?—ww
a9 87

(A) TNF P Yo% HET B
(B) & # 4o% YA H &

(C) HALF HIAT T TE=F HC &
(D) =g T T 9HR HE 2

4. frfafag & @ -1 1 9% o= S 27

(A) "% (B)
(C) = (D) 1

5. fr=ffaa & @ o Yo% dwEr @ 27
(A) s (B) g¥X
(C) damht (D) T8

6. it # & Row wgw @ gaw TR TS Rrd w2 B
i & sRiffe #e 87
(A) TS, B, I
(B) 9N, Ty, FhIX
(C) ¥, Tgg, 3T
(D) e, B, damHT
7. 4f% 63+25=16, 12+418=12 and 23+17=13, T 54+22 = ....

(A) 13 (B) 17
(C) 19 (D) 20
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DIRECTIONS: (Question No. 8 & 9) In the following questions,
each question is followed by two statements labelled | and Il in
which certain data is given. You have to decide whether the data
given in the statements are sufficient to answer the guestion. Using
the data given, together with our everyday knowledge, choose.

(A A

A. If statement | alone is sufficient to answer the question
but statement Il alone is not sufficient to answer the
question.

B. |If statement Il alone is sufficient to answer the
question but statement | alone is not sufficient to
answer the question :

C. If both statements | and Il together are sufficient to
answer the question but neither alone is sufficient to
answer the question _

D. If | and Il are not sufficient to answer the question and
more data is required

What marks have been obtained by Ramesh?

I.  Ramesh’s marks are average of marks of Namita and
Anita

.  Namita obtained 80 marks. and this is 33% more than
the marks obtained by Anita

(B) B

(C) C (D) D

A certain bookshop sold, 92 copies of “Geet Gata Chal”
by Atal Bihari Vajpayee during the first day. What
percentage of stock of this book did he sell on that day:

. The total number of books with this title on stock is 230.
Il. There are a total of 1000 books in his store.

A A (B) B

(C) C (D) D

DIRECTIONS: The following graph gives the marks scored by a
student in different subjects — English, Hindi, Mathematics,
Science and Social Science in an examination. Assuming that
the total marks obtained for the examination are 540, answer the
question given below.

Science

10. The difference of marks between Social Science and

11

Mathematics as the same as between:

(B) Science and Hindi
(D) None of these

(A) English and Science
(C) Hindi and English

If ‘PERFECT’ is coded as ‘RGUIHFW’ Then ‘BROWN’ in
that code is written as:

(A) CSQYP
(C) CTRYQ

(B) PSRZQ
(D) DTRZQ

frde: (qs:fmaqéwﬁmﬁﬁéﬂqﬁfﬁ,mgﬁ%qga
o | T I RY ¥ R g offme RE o E e Vo
T ¢ FoAl § R W offee w9 & 9 3N & R w2
A IR S w T S gu Y ge il § wE H

A AR B | O T & AT B I e IR A &
ol vt = 2

B. R FF Il I 3 & fC obw wata ¥ Al FU |
Hb I 3 B fory waim & B

C. 3R AN #o | W Il UF Y SO o 3 Ry e @
ARET BE TH S Iud a4 @ ford wata @ R

D. I Z4f Fo | T || I 3 B Rl v T 8 o
HEE Spe! H TR Bl

Wy T fhem o arfvfa R wa?

I Y B o A ud i & oi @ ol @

I, Afer s ofSa ofF 80 & wd g® ot awr e

P F 33% wUET B

(A) A
(B) B
@€ C
(D) D

o e @t 3@ 7 orew faerd anndt & fE it e
Ta” 92 Hiodl Tew R s 36 fhae 3 e #t Bhad
wioea 36 99 R S

I 39 diw A Fa feaw @ Hem ®i% 7 230

Il. I X F Fa 1000 BFE &

(A) A (B) B

¢ C (D) D

Frder o ferl aro e fwEi-ceh, &=, ofm, fem @
gt fas § o ofe & Ffofeg o @ g9 = &
75 A g B oden # @ o of#t A dEm 540 B A
et o9 1 3O ) ;

Science
e}
Social
Science
55°

10. WP R wd @ B wer oiE ¥ orw oo & %

11.

[4]

(A) CSQYP

R = @ we
(A) el g fosT (B) fasm @ =
(C) B wa s (D) g7° | H1§ &l

IR ‘PERFECT’ & ‘RGUIHFW’ e R simm 8, & o
e ¥ ‘BROWN’ & &8 fomam mm &

(B) PSRZQ

(C) CTRYQ (D) DTRZQ
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DIRFSCTIONS: 120 candidates appeared for examination in R 120 feemfi &9 fwdi fimd @ ot (E), "Pr (M) o
fast (s) # wlen ¥ 331 E,M @& S # orvww oAl @ Hen
orer B A= R e Yanfe & qfan @ ¥

three subjects, name English (E), Maths (M) and Science (S).
The number of candidates who failed in E, M and S as shown in
the diagram given below.

12.

DIRECTIONS: Given below are three positions of the same dice
having names of six institutions inscribed on six faces. The
names of these institutions are, ICA, ICWA, ICSI, ICFAI, IIT,

E M

a2
&/

S

The number of candidates who failed in at least one

subject is:

(A) 25
(C) 60

BHU.

13.

14.

15.

16.

ICWA

ICFAI

Which name occurs on the face opposite to that of ICA?

(A) 1CSI
) It

ICSI

(B) 30

(D) None of these

ICA

BHU

ICWA

(B) ICFAI

ICWA

BHU

(D) None of these

Find the missing number in figure:

19 27 29
5 3 7 3 6, 4
23 17 ? 25 34 26
4 6 5

(A) 39
(C) 47

Which is next in series?

DODD®
(A) @

Given that.

1. Ais the brother of B
3. Dis the brother of E

Then the uncle'of ‘D’ is:

(A) E
€ C

(B) 45

(D) None of these

(B)

@
(2) @

2. Cisthe father of A

ICFAI

4. Eis the daughter of B

(B) B
(D) A

12. %9 8 %9 0% g § owawa =il & den ¥

EM

(2
W

S

(A) 25
(B) 30
(C) 60

(D) T® & H 7

frder & & T8 & @9 Rafedt et o dea 3 99 & amgEr
v &3 mw F F A9 ¥ ICA, ICWA, ICSI, ICFAI, IIT, BHU

13.

14,

15.

16.

© ICWA

ICFAI

ICA % 3i% el (IR) T@ W F-81 1 am?

(A) ICSI
(B) ICFAI
C) T

(D) &9 & & T8

ICSI

ICA

BHU

ICWA

ICWA

BHU

ICFAI

RE ¥ wars R $ WE OT F SR

19 27 29
5 3 7 3 6 4
23 17 ? 25 34 26

4 6 5

(A) 39
(C) 47

ot & BF-w1 A e

DOD®

feam 2

1. BI IR AR
3. EHIEDR

@ ‘D’ & 9rEr B &7

(A) E
&y e

(B) 45

(D) &7H | ®§ 7




17. Consider  the foltoWing information regarding the
performance of a class of 1000 students in four
different tests.

Tests | Il I v

Average Marks 60 60 70 80

Range of Marks 30to 45t0 | 20to Oto
90 75 100 100

If a student scores 74 Marks in each of the four tests,
in which of the following tests is his performance the
best comparatively?
{A) Test—|

(C) Test—1l

(B) Test—1Il
(D) Test—1V

DIRECTIONS: Select the question mark (?) number from the
given responses.

18.
(A) 21 (B) 23
(C) 19 (D) 28

19. Complete the following series.
9,11, 15,23,39,7?
(A) 71 (B) 64
(C) 42 (D) 56

20. In the below figure, circle P represents hardworking
people, circle Q represents intelligent people, circle R
represents truthful people, and circle S represents
honest people. Which region represents the people who
are intelligent, honest and truthful but not hardworking:
(A) 6 | 7
(C) 8 (D) 1
In certain code ‘INTERCHANGE® is written as

21.
' ‘NITRECAHNEG’. How is ‘CONDITIONAL’ written in
that code?

(A) OCNDIOTNILA
(C) OCNIDTOINLA

(B) ONCIDTOINLA
(D) OCIDNTOILNA

17.

1000 R o w0 & = Rbw ot @
b 92 & ¢ gEdel #1 AawD B

myy

R

18.

19.

20.

21.

EEiLa] | 1l 1 v
g af® 60 60 70 80
P H TUH 30to | 45to | 20to | Oto

90 75 100 100

afy ws el we ol wlemel ¥ 74 % W O 8, Al
Py e qhET 3 SEET gEIeTH SaA H4A el 87

(A) TR - | (B) odterm - I
(C) Tem - 1l (D) udem - IV

R T feedt # & wea R (7) den @ g

(A) 21 (B) 23
(C) 19 (D) 28
it B It B

g9, 11, 15, 23, 39, ?

(A) 71 (B) 64
(C) 42 (D) 56

Prefafa R ga P oReed afwdl @ s 8, 99 Q
ey Afedl $ gur 8

(B) 7
(D) 11

g fp@t Pflgg @ #  INTERCHANGE’ 3

‘NITRECAHNEG’ @ St @/ § ‘CONDITIONAL’ &
ferg?

(A) OCNDIOTNILA
(C) OCNIDTOINLA

(B) ONCIDTOINLA
(D) OCIDNTOILNA

DIRECTIONS: Choose the most appropriate option in the frfr: Freiheie Rt § & waifies Sugw fBeed g3-

following?

22,
22. Detective : Information : : Reporter: ?
(A) Essay (B) Books
(C) News (D) Management -
[6]

g« gae ;o R c
(A) T
(C) FHMEI

(B) feberel
(D) S
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DFE

ins. Jctions given.

23.

24.

25.

26.

27.

A$B means A is not smaller than B

A#B means A is not greater than B

A@B means A is neither smaller nor equal to B

A*B means A is neither greater than nor smaller than B

A%B means A is neither greater than nor equal to B -

STATEMENT:

M@J, J$T, T*N
CONCLUSION:

. N#J . T%M

(A) Only | and |l are true
(B) Only Ilis true

(C) Only | and lll are true
(D) All are true

. M@N

In a certain code language, 24.

‘cro te na’ stands for ‘elephants are huge’;

‘mee cro da’ stands for ‘animals are dark’ and ‘mee cro
te dana’ stands for ‘huge animals are lovable’. How is
‘elephants are lovable’ written in this code language?

(B) na mee dana
(D) te da mee

(A) mee dana cro
(C) nadanacro

In this question, which number should be in place of 25.
‘x’? The numbers in the figures fol}ow some rule:

(A) 4 (B) 6

) 7 (D) 8

Three views of the same cube are‘shown below. 26.
The figure on the face opposite the triangle is:

(A) Pentagon

(B) Circle

(C) Question mark

(D) Rectangle

‘C’ is a place which is located 2 km away in the north- 27.

west direction from the capital Z. R is another place
that is located 2 km away in the south-west direction
from ‘C’. ‘M’ is another place and that is located 2 km
away in the north-west direction from ‘R’. ‘T’ is yet
another place that is located 2 km away in the south-
west direction from ‘M’. In which direction is ‘T’
located in relation to ‘Z'?

(A) South-West
(C) North

(B) West
(D) None of these

‘T ]

CTIONS: Answer the following question according to the s RY mu fEst & AR

=
AS$B & arad & A, B § BlEl
A#B & a9 B A, B § F®T
A@B & Tl & A, 7B
ABH A T A, A B @ a21 X 7 &'B § BT &
A%B & aqd & A, 7@ B 8 F2T

EAIE R

M@J, J$T, T*N

foreps:

. N#J .
(A) S | T |l 99 B
(B) %aw Il §9 2

(C) aw | T Il §F B
(D) =i 79 & :

T%M iil. M@N

s fafdEa @is 9 A,

‘cro te na’ N AL & ‘elephants are huge’;

‘mee cro da’ & O9d 8 ‘animals are dark’ W@
‘mee cro te dana’ & GK9d & ‘huge animals are lovable’.
‘elephants are lovable’ & 0 &g w1 & 3§ feran mem?

(B) na mee dana
(D) te damee

W IE F ) 3 @F W IA-H g o e Re
T$ der 35 FEd B gER S

(A) 4 (B) 6
© 7 (D) 8

@ & 99 3 dF g MY Wi T

B & Rigda @™ amn fe e

(A) T

(By g

(C) wsTarE® [
(D) AR

o z & Su-afew Rer # 2 Rl @ gt W @
WM Rea ¥ ‘R O g6 ©@F, ‘C @ aRor-oie R A
2 Bl B g0 W B M o gEa wEE, S BOR @
- R & 2 Bl & g W B T % ol o
W, W AR R R 2 PPl A w29,
‘T f5e R @ SR R7
(A) afRrr-afes

(C) S

(A) mee dana cro
(C) nadana cro

(B) 9f¥=d
(O) ¥ § &g &

RSJUNX1T




28.

29.

30.

- 31

Find the missing number in place of question mark?
14 8 12

6 22 0/ 16 2 22

14 5 2 15

(B) 8
(D) 14

10 14 18 6 12

(A) 10
(C) 12

Five friends are sitting in a row. ‘T’ is on the right of
‘Z’. ‘N’ is on the left of ‘Z’ but is on the right of ‘L’. ‘T’ is
on the left of ‘K’. Who is sitting first from the left?

(A) T (B) L

C) K (D) N

Ramesh is twice as old as Shyam but twice younger
than Rajesh, Brijesh is half the age of Shyam but twice

the age of Nagesh. Which two persons form the pair of '

oldest and youngest?

(A) Ramesh and Brijesh
(B) Rajesh and Shyam
(C) Rajesh and Nagesh
(D) Ramesh and Nagesh

Which one of the given responses would be a
meaningful order of the following words?
Doctor, Headache, Medicine, Medical Shop.

(A) Headache, Doctor, Medical Shop, Medicine
(B) Doctor, Headache, Medical Shop, Medicine
(C) Headache, Doctor, Medicine, Medical Shop
(D) Headache, Medicine, Doctor, Medical Shop

DIRECTIONS: In the following number series only one number

32.

33.

34,

28.

29.

30.

31.

. (©) 12

m%ﬁ%mwﬁgﬁmm?

AAAA

(A) 1 (B) 8
(D) 14

o e o A F &3 3 T,z IR B N, 2B
w@r%%‘u%mﬁfeﬁr%n T, K B a R Y
@mwmwa’h@m%?

(B) L

(D) N
WY, ¥ 8 N 991 B AT W A g Sen Ko
W P FE B AN B AT AT F Y F P B
a ARpal F1 Siel, 998 T3 T4 G99 B H1 87
(A) AT uF By
) T wd
(C) T wF TR
(D) Y TE AR

i
O >
Rl

xﬁr@aﬂﬁm@eﬁ{ﬁmﬁﬁmﬁﬁ@fﬁﬁﬂam
?

S, R, &, qar 9 gam

(A) Rived, Strey, zam) &t g, T

(B) Sy, fwee, Zars i g, Zar

(C) Rrwed, ST =@, T@R) @ TEM

(D) R, o, e, @) @ gae

ﬁ%arﬁwﬁ@ammﬁ@mm%wmﬁ

is wrong. Find out the wrong number. ST HY
1, 4, 27, 256, 3125, 46658 32. 1, 4, 27, 256, 3125, 46658
(A) 4 (A) 4
(B) 46658 (B) 46658
(C)y 27 (C) 27
(D) 3125 (D) 3125
Given two positions of the dice as being. 33. i@ @ & Refni gg vox § w® &
‘When 4 is at the top which number is at the bottom: S 4 99X B @ F-d gE@r a9 9 e
(A) 5 (B) 2 (A) 5 ' (B) 2
(€)1 (D) 3 (C) 1 (D) 3
The total number of triangles in the figure below are: 34. A RA & R F Byt A & g g v R &
(A) 8 (B) 10 (A) '8 (B) 10
©) 12 (D) 14 ©) 12 (D) 14
[ 8 ] RSJUNX17




i g feeniat &/ o &9 =&t @ gen
% o g @en 3 ™ g 9y
F FAET B T 3 U ST 99

D‘("‘CTIONS The pie chart, given here, represents the number
of valid votes obtained by four students who contested election
for school leadership. The total number of valid votes polled was
720. Observe the chart and answer the question based on it.

35. By how many votes did the winner defeat his nearest 35 ferstar 9 oreR Fepeaw sfvawt # faw #dt @ s
rival? (A) 35 (B) 45
(A) 35 (B) 45 “(C) 40 (D) 50 : (C) 40 (D) 50

36. Consider the following figure and answer the item 36. Fr=ifafRaa g &1 sraelieT Y ©g 999 & ¢ 2
given below:

ﬁ%mwm#ﬁ%%ﬁwmﬁﬁﬁaﬁﬁﬁ

What is the minimum number of different colours HEAT St AT 8 s R §S Y &R H T T @1 AT e
required to paint the figure given above such that no (A) 4 ®) 7
two adjacent regions have same colours. ©) 3 ' (D) 8
(A) 4 ® 7 €) 3 (D) 8
37. Find the missing number in place of question mark (?) 37. R ¢ faebed! & § yvars B (7) & ®@F W faga den
from given alternatives: T B
7] 3] 3] 7] 3] 3]
[8]?[6]| [9]514]| [5][s74] [8]?][6] [9[s1]4] [5]a7]4a]
5 5 9 5 s 9
(A) 87 (B) 83 (A) 87 - (B) 83
(C) 55 (D) 60 (C) 55 (D) 60

DIRECTIONS: In the following question, Select the choice of e Frifefed 557 7 ved o= & Tf #1 3 fd o q=
letters which completes the first word and begins the second. The H g8 A B 8 TE ol @ g HY M S TR A= B
letters in the bracket end the first word and begin the second. T 3R GEY 9= & Y& BT I8 Prod 7§ AN Hres § il

Number of dots in bracket indicate number of letters required. T fagett A dear swerd @ wEn st ¥
38. APR(..)ION: 38. APR(..)ION:
(A) IL (B) ON (A) IL (B) ON
©)Im ’ (D) CO ©) IT (D) CO
39. Pick the odd one out. 39. Freefafea & @ e &t g
(A) Hear (B) Smell (A) G _ (B) g
(C) Taste (D) Talk (C) @" & (D) S BT

DIRECTIONS: Select the suitable alternative to satisfy the re|ati0hshib in the following question.
frdar: ﬁﬂ%@amﬁwﬁwﬁﬁwmﬁaﬁﬁwaﬁgﬁm

40. Question figure (Fﬁ?f GT@ET) i Answer figure (GT“R' Gﬂﬁiﬁf)
O ol ., |o ol..|o o) A AlO o |0 o (A FAN
91.10 |..| ® Lo IRVNIR PN
o = o o o o A Alo oo o|lA—A

(A) (B) © (D)
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41.

42.

43.

45.

46.

47.

48.

49,

PART-II / 1 - Il (General Awareness /§M= §)

Chengalikodan is a variety of: 41.
(A) Banana (B) Apple

(C) Pokkali Rice (D) Mango

Ten Degree Channel is situated between: 42.

(A) North and South Andaman

(B) Middle and South Andaman

(C) Little Andaman and Nicobar Islands
(D) India and Sri Lanka

Article 243 B(1) of the constitution provides for 43.

constitution of Panchayat in every state. The level of
Panchayats referred under this is:

(A) Village and District level

(B) Village, intermediate and District Level
(C) Village level only

(D) District level only

Match the following (Item—I to Item-ll): 44,
ITEM-I ITEM-II

A. Siachin Glacier 1. Sikkim

B. Rohtang Pass 2. Karakoram Range

C. Nathula 3. Pakistan

D. Khyber Pass 4. Himachal Pradesh

(A) A4, B2, C3, D1 (B) A4,B2,C1,D3

(C) A3, B2, C4, D1 (D) A2,B4,C1,D3

Find the mismatch: 45.

(A) Gagan Narang — Shooting

(B) Achanta Sharath Kamal — Table Tennis
(C) PV Sindhu — Badminton

(D) Sakshi Malik — Weight Lifting

As per Indus Water treaty, control over which three 46.

rivers were given to Pakistan:

(A) Ravi, Jhelum and Sutlej
(B) Ravi, Beas and Sutlej
(C) Indus, Jhelum & Chenab
(D) Indus, Jhelum & Sutlej

PAVA shells stands for? 47.

(A) Pelargonic Acid Vanillyl Amide
(B) Pellet Attack Vamide Amide
(C) Parrallel attack Via Amide

(D) Priority Acid Via Amide

The earth rotates on its axis from: 48.

(A) West to East
(C) South to North

(B) Eastto West
(D) North to South

Which country has initiated “One Belt and One Road 49,

initiative”:
(A) Nepal
(B) India
(C) China
(D) Japan

[10]

.‘;N
Fferpe o o yonfa 2 ‘
(A) e (B) &9
(C) U dEad (D) &=

> Rt S Read wer e B7
(A) I @l Eferer srvEEe

(B) weg afiT afdrer arveHN

(C) BT avgqH &R FeEr 29
(D) W @it -

dfge 3 T 243 B(1) YOS 19 § TF 9RA § oA
F WEEE B ¥ T ATWE A GAEA H WIS HIR
forar T 2: :

(A) T g o &

(B) i3, medf wd e &

(C) ad g WX

(D) Faw fomm wY

Preifefem # gafwa X (71 § 7e-11):

Te-| HqE-1l

A Tt @fr 1. Tafeem

B. T&aiT Uiy 2. HHWH A
C. g 3. i

D. @EET 99 4. REE-wRY
(A) A4, B2, C3, D1 (B) A4, B2, C1,D3
(C) A3, B2, C4, D1 (D) A2, B4, C1, D3
It gafew & §E B

(A) T AR - g

(B) =il 979 FAG - oF@ ord
() d.4@. fiy - I

(D) |l afers - AR

Rrg o @oelia @ orgar Rev dm aRdl ot aieem
fr=or Rar -

(A) TE, FI9H o e

(B) I, &H Td Heierl

(C) fry, s Td o

(D) féry, oM T Hefaol

PAVA A0 & arad 87

(A) Pelargonic Acid Vanillyl Amide
(B) Pellet Attack Vamide Amide
(C) Parrallel attack Via Amide

(D) Priority Acid Via Amide

g Aot gt W @
(A) WiEH q (B) T & df=m
(C) =mr § I (D) IAT & afyor

e 30 3 ‘0 3w @ @ Us R (OBOR)” @ wew
@ &

(A) ST

(B) #Rd

(C) 9

(D) S9H
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50.-{5_Match List—1 with List—Il 50.
List-I (Dance forms) List-ll (State)
A. Kathkali 1. Tamilnadu
B. Kuchipudi 2. Kerala
C. Bharat Natyam 3. Andhra Pradesh
4. Odisha
. 5. Karnataka
(A) A-2, B-4, C-1 (B) A-5,B-3,C-2
(C) A-2,B-3,C-1 (D) A-5,B-4,C-2
51. - Match the following items | & 11 51.
Item—I| Item-lI
A. Bank rate 1. RBI lends money to
commercial bank for their
short term needs.
B. Repo rate 2. To be maintained by
commercial bank with RBI
C. Statutory liquidity ratio 3. To be _maintained by
commercial bank with
themselves
D. Cash Reserve Ratio 4. RBIlends money to
commercial banks for
their long term needs
(A) A4,B3,C1,D2 (B) A1,B3,C2, D4
(C) A1,B2,C3,D4 (D) A4,B1,C3,D2
52. Match List-l (Sea) with List-Il (Country) and select the 52.
correct answer using codes given below the lists.
List-l (Sea) I__ist-il (Country)
A. Black Sea 1. Bulgaria
B. Red Sea 2. China
C. Yellow Sea 3. Eritrea
D. Caspian Sea 4. Kazakhstan
(A) A1,B4,C2 D3
(B) A2,B3,C1,D4
(C) A1,B3,C2,D4
(D) A2,B4,C1,D3
53. The resolution for removing the vice president of India 93
can be moved in the:
(A) Lok Sabha alone
(B) Either house of parliament
(C) Joint Sitting of parliament
(D) Rajya Sabha alone
54. Which profession represents highest percentage of 54.
. members in the sixteenth Lok Sabha?
(A) Advocate
(B) Agriculturists
(C) Social Worker
(D) Business Person
[11]

gE-1 & gE-Nl S gl H

- (T @) Il (1)
A, U o
B. FATS 2. W
C. HRAAEEA - 3. HAM-ES
4. anfem
5. @HieH
(A) A-2, B-4,C-1 (B) A-5,B-3, C-2
(C) A-2, B-3, C-1 (D) A-5, B-4, C-2
-l | 7l F gAlE w5
-l i
A FF T 1. RBI g affsas S
SECc e e Cha ey
% for gar QU B
B. W& 2. afeg d#@ g ol ¥
¥ gr o ?
C. I Rer oUd 3. i St EwT o
| @ S 8

RBI gat A S
I A ST
% o g R AW B

D. e @M AU 4.

(A) A4,B3,C1,D2 (B) A1, B3, C2, D4
(C) A1,B2,C3, D4 (D) A4, B1, C3, D2

1 (5R) B -1 (R9) & e B¢ o K R M

H AT FIQ GT WO AN I

-1 (&) eIl (39)
A = 1. gerr
B. & 2. 9N
C. I @ 3. ufefEr
D. ®ftgg @ 4. FHETHEIA

(A) A1,B4,C2 D3
(B) A2, B3, C1, D4
(C) A1, B3, C2, D4
(D) A2, B4, C1,D3

ARG & SU-UART B 8N & WG Fef drdr o Thal 2
(A) ST Ap-ger |

(B) HoE & et off wew o

(C) Wee & Wy Jok o

(D) Faw Tog-q97 o

Hicedl @%-a91 ¥ 59 U9 D weel & gl SR a2
(A) TEABT

(B) 8%
(C) TH=EE
(D) ZEarE
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55.

56.

57.

58.

59.

60.

61.

62.

Match the following (List-l and List-ll):

List (Year) List-ll (Nobel Prize in Literature Awardee)
A. 2016 1. Patrick Modiano

B. 2015 2. Alice Munro

C. 2014 3. Bob Dylan

D. 2013 4. Svetiana Alexievich

(A) A3, B2, C4, D1
(C) A3, B1, C2, D4

(B) A3,B4,C1,D2
(D) A3, B2, C1, D4

Vice President of India who served for two consecutive
terms:

(A) K.R.Narayanan

(B) Zakir Hussain

(C) V.V. Giri

(D) Dr. Sarvapalli Radha Krishnan

The Wallace’s line refers to:

(A) A faunal boundary line between Asia & Australia

(B) A biogeographic boundary between landscape
patches in the Amazon

(C) A mountain range that represents different species on
either side of Himalayas

(D) An altitude zonation between two vegetation communities

The branch of biology that deals with the study of
fungi is called:

(B) Phycology
(D) Microbiology

(A) Algology
(C) Mycology

A solar eclipse occurs when:

(A) The Moon comes between the Earth and Sun

(B) The Sun, Moon and Earth are in triangular formation
{C) The Earth shadow falls on the moon

(D) All of these

India’s Devendra Jhajharia won gold medal in the
men’s ...... event held at the 2016 Rio Paralympics -

(A) Shot put — F53

(B) Wrestling

(C) High Jump T—42
(D) Javelin Throw — F46

A cyclist while turning around a curved road leans
inwards. By doing so which force he is providing
himself which enables to take a turn:

(A) Centrifugal Force
(B) Centripetal force
(C) Angular Velocity
(D) None of these

On the basis of area which one of the following is
correct descending order?

(A) Asia, North America, Africa, South America
(B) Africa, Asia, North America, South America
(C) Asia, Africa, North America, South America
(D) Asia, Africa, South America, North America

55.

57.

59.

60.

61.

62.
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Rrefif @ gif &% (G- & gdi-il) "

g1 () -1 (M T gwR Rstan)
A. 2016 1. Ay A

B. 2015 2. o g

C. 2014 3. ¥ e

D. 2013 4. W o

(A) A3, B2, C4, D1 (B) A3, B4, C1,D2
(C) A3, B1, C2, D4 (D) A3, B2, C1, D4

TG 3 -9 U6 99 IU-Uguly R & @mr
FdHRT B 9T B B

(A) .3, NI

(B) Y gl
(C) @r.di. frf
(D) f. wETw T FOH

aag @ HeRi w8

(A) o wd sirefrar @ Se o B g Y
(B) e ¥ Avewdy il & v iREmies g
¥

(C) U gda fawar st 5 Raey & et avw Rt sonferat
F1 sfffaE # &

(D) 2 arFEfes QYR & Hed U Gl STgAe FH

Siafes i qra, St wgE 3 oterEe | "efta 8, s

2

(A) Tl

(B) it
(C) ISt (D) AR
g4 7891 F9 B

(A) & w1 O ud g4 & 9 o o 8

(B) 5 gd, = @ T P @ § S §
(C) 5 gedt &t BRT T 9¥ UE 8

(D) 9 &

ARG & 2a= F@ar 7 2016 R Yufefues & fem aw #
gEs & # ot dgd -

(A) UeYe-F53 ,

(B) FHKh

(C) & T-T42

(D) SrfeH @1-F46

~g1 g9 @ @ &
(A) TIH=I I
(B) Halary d
(C) @i aT
(D) & & g &

AA%d B IR X Freefafag § @ S9-a1 98 sEid 59 8
(A) ufrr, I ofe, e, 2Rl e
(B) e, ufdrn, Swdt ol sRml emfE
(C) uldrr, i, Id orafte, Rl emfta
(D) T, arshie, afrelt amfe, IO o
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=

64.

65.

66.

67.

68.

69.

70.

71.

(A) Certiorari

Match the United Nations Agency with its headquarter
and find the incorrect match? ‘

(A) UNESCO- Paris, France
(B) UNIDO- Vienna, Austria
(C) ILO- Geneva, Switzerland
(D) FAO- Montreal, Canada

In which of the following groups of hemispheres is
India located?

(A) Northern & Eastern Hemiéphere
(B) Eastern & western Hemisphere
(C) Southern & Northern Hemisphere
(D) Eastern & Southern Hemisphere

S.D.R with reference to IMF stands for:
{A) Special Dollor Rights

(B) Special Drawing Rights

(C) Single Drawing Rights

(D) Sunk Drawing Rights

A writ, which is in the nature of command issued by
the court asking a public authority to perform a public
duty which it is bound to perform or to refrain from
performing a particular act which it should not
perform, is called:

(B) Habeas corpus

(C) Mandamus (D) Quo warranto

Electoral disputes arising out of Presidential and Vice-
Presidential elections are settled by:

~ (A) Central Election Tribunal

(B) Joint Committee of Parliament
(C) Election Commission of India
(D) Supreme Court of India

1 dioptre of power of a lens:

(A) Whose focal length is 10 meters
(B) Whose focal length is 100 meters
(C) Whose focal length is 1 meter.
(D) Whose focal length is 0.01 meter

LIBOR, a term used in banking and financial sector:

(A) Local Indian Bank Offered rate

(B) London Inter bank Offered rate.

(C) London India bureau of Regulations
(D) Liberal International Bank Official Ratio

National remote sensing center (NRSC) is located in:

(A) Delhi (B) Hyderabad
(C) Gwalior (D) Bengaluru

Which of the following is a credit rating agency:

(A) BSE
(B) ICRA
(C) NSE
(D) SEBI

63.

64.

65.

66.

67.

68.

68.

70.

71.
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TS Ao S B 5 Jeaed @ gakm HT @ T
oo @ qsar? :
(A) UNESCO - A, m|

(B) UNIDO - T, e

(C) ILO - SFdl, WieRas

(D) FAO - AR, Hre

e & fre weE ¥ ARa Raa @

(A) Tl od gaf rerd

(B) gdi wdf ufterdt erd

(C) Rl wd IEd e

(D) e ad aRreft Merd

IMF & det & S.D.R &I ard &
(A) fas ey aftwr
(B) Fd arever e
(C) Tehel ATETOT HAHIT
(D) T BT AR

wﬁ@m—mwﬁﬁwﬁmﬁmw
ERCIANRE RIS SIS

(A) F= g fpgTa

(B) #we & €y wMf

(C) I 1 A AN

(D) 9 & Hared FEAEd

Jq & 9 B 1 SAET & I B
(A) P Thm @=i 10 Hrex 3 8
(B) RreE wRm =g 100 WX & ®
() Rre M e 1 e &l @
(D) P Mm@’ 0.01 #e & 2

LIBOR @ @& & ot 5 ¥ od R &=t & swgh & &
(A) der e J% offws 1©

(B) e X b offe T

(C) e gfear A e TR

(D) R geeE S offteREe WA

Iy Gire AT 3= (NRSC) et Ram &
(A) Rl (B) R

(Cy Tafery (D) A&
Rrafif & & $9-0 @5 w0 TRIBT G
(A) BSE

(B) ICRA

{C) NSE
(D) SEBI
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72.

73.

74.

75.

76.

77.

78.

79.

80.

Which one of the following is the correct chronological

order?

(A) Khilji Dynasty — Tughlaq Dynasty — Sayyid Dynasty —
Lodhi Dynasty

(B) Lodhi Dynasty —~ Sayyid Dynasty — Khilji Dynasty —
Tughlag Dynasty

(C) Khilji Dynasty — Sayyid Dynasty — Lodhi Dynasty —
Tughlag Dynasty

(D) Lodhi Dynasty — Tughlag Dynasty — Khilji Dynasty —
Sayyid Dynasty

Which is the nodal department under the aegis of
union ministry of communications and information
technology that deals with cyber security threats like
hacking and Phishing in India?

(A) National Cyber Coordination Centre

(B) Grid Security Expert System of India

(C) NETRA of India

(D) CERT-IN

In case of reflection it is well known that when a mirror
turned through an angle the reflected ray turns
through:

(B) Twice the angle

(D) Half the angle

(A) Same angle
(C) Thrice the angle

“Swachh Indhan, Behtar Jeevan” is the tagline for

~ which scheme of union government:

(A) Pradhan Mantri Awas Yojana
(B) Pradhan Mantri Ujjwala Yojana
(C) The Ujala Scheme

(D) Swachh Bharat Abhiyan

Which of the following is wrongly matched:

(A) Hirakud - Mahanadi

(B) Pochampad - Godavari
(C) Nagarjun Sagar - Cauvery
(D) Bhakra Nagal — Sutlej

FIFA World Cup 2018 will be organised in which of the
following countries?
(A) Russia

(C) Brazil

(B) Germany
(D) France

Which is generally known as United Nations Refugee
Agency?

(A) UNODC
(C) UNHCR

(B) UNHSP
(D) UNFIP

Select the smallest (computer) memory size?
(A) Terabyte (B) Gigabyte
(C) Kilobyte (D) Megabyte

Which one of the following four Vedas is divided in
Taittiriya and Vajasaneyi:
(A) Rig ved

(C) Atharva ved

(B) Yajurved
(D) Sama ved

72.

73.

74,

75.

76.

77.

78.

79.

80.
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i PART-III / 97T ~ Il (English Language / S{3Isit )
DIRECTIONS: (Question No. 81 to 85) Read the following passage carefully. The questions following it are based on its contents.
Select the best answer to each question based on the contents of the passage.

_ We must build a world of peace and we cannot do so unless we secure for it a truly moral foundation. We may hold different
metaphysical views, adopt different modes of worship and there are millions today who do not desire to place their faith in any God
at all. But every one of us will feel highly offended if he is pronounced destitute of any moral sense, if he is said to be untruthful or
unloving. All religions and systems of morality are agreed that respect for life, respect for intangible possessions, good name and
honour, constitute morality and justice. ‘Do not do to others what you would not like to be done to you'. Even primitive sages accept
this principle. Only for them its appreciation is limited to their own tribe and race and those outside are not regarded as human
beings. As our horizon expands, as our moral sense deepens, we feel that these moral precepts are valid for all human beings.
Today the world is like a ship with no captain heading for the rocks. It is swept by passion and folly. We do not know whether it is
passing through birth pangs or death throes. If we adopt the path of greed, hatred and self-interest, we will become something less
than human. If we take the other path of fortitude, un-selfish service and sacrifice we will reach height of splendour in body, mind
and spirit of which we can hardly dream. Non-religion is our malady and religion as an adventure of spirit and as a tool radical
transformation of human nature is the cure for it.

81. To build a world of peace it is essential to:
(A) Respect all religions
(B) Cultivate moral values in human beings

(C) Serve society
(D) Have faith in God

82. In-spite of diversity of views, there is a general agreement on what constitutes .............

(A) Decency and goodness

(B) Grace and gentlemanliness
(C) Morality and justice

(D) Kindness and compassion

83. The principle, “Do not do to others what you would not like to be done to you”, means:

(A) Treat others the same way you want them to treat you
(B) Treat all with kindness and compassion

(C) If you want a thing done well, do it yourself

(D) To be just and fair to others

84. To which flaw of ancient sages does the writer refer?

(A) They are prejudiced against everyone

(B) They are culturally backward

(C) They are extremely conservative

(D) They do not regard non tribals as human beings

85. Our moral sense deepens when we:

{A) View society in a broader perspective

(B) Develop an understanding of morality

(C) Practise religion

(D) Pursue our goal with single-minded devotion

DIRECTIONS: A sentence has been given with a blank space. Pick the suitable choice to fill the blank according to good usage of
the English language.

86. His mother ........... last year:
(A) Pass off : (B) Passed for
(C) Passed away (D) Passed on

DIRECTIONS: A phrase or idea is described in each question followed by four single word choices. Select the choice which best
explains the idea/phrase. ’

87. A child of unusual or remarkable talent:

(A) Diligent (B) Prodigy
(C) Brilliant (D) Freak
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DIRECTIONS: In each of the following sentences a word or phrase is underlined and given a number. Pick a choice of number
where the error lies.

88 If my teacher will advise | will join the part time course
) 1 2 ' 3 4

M) 1 8) 2 ©) 3 (D) 4

DIRECTIONS: The following sentence a portion has been underlined. There are four choices of phrasmg the portion Jnclud:ng the
original. Select the best usage version from (A), (B), (C) and (D).

89. If Ram would have worked hard, he would have been selected for the job:

(A) Had Ram worked harder
(B) If Ram had worked hard
(C) Had Ram worked hardly
(D) If Ram would have worked hard

90. Change the sentence into indirect speech.
Ram said to the boy, “why will you not play with me?”

(A) Ram said the boy why he will not play with me?

(B) Ram asked the boy why he would not play with him.
(C) Ram told the boy to play with him.

(D) Ram asked the boy why will hot play with me.

91; Correct the following sentence.
The teacher said that honesty was the best policy.

(A) The teacher told that Honesty was the best policy
(B) The teacher said about the honesty.

(C) The teacher said that honesty is the best policy.

(D) The teacher advised the honesty as the best policy.

92. Combine the following sentence by using an Adverb Clause.
He is poor. He is honest.

(A) Heis poor and honest. (B) He is both poor and honest.
(C) Although he is poor, he is honest. (D) He is poor as well as honest.
93. Fill in the blanks with the correct form of verbs given in bracket. :
We ___ (wait) for the train for nearly two hours, but it (not arrive) yet so | don't think we (be able to) attend

the meeting on time.

(A) have been waiting, hasn't arrived, will be able to
(B) waited, did not arrive, will

(C) have waited, hasn't arrived, will be able to

(D) are waiting, isn’t arrived, would be able to

94. Fill in the blanks with the correct form of verbs/tenses given in bracket.

When the old woman (hear) that her grandson (arrest) for robbery, she . (get) a big shock.
(A) heard, had been arrested, got (B) heard, was arrested, gets
(C) hears, is arrested, got (D) will hear, is arrested, gets

95. The question consists of a sentence with four underlined parts one of which is incorrect as per standard use of
English language. Identify the incorrect part.

Scarcely we had reached the office / when it started / raining cats and dogs .

(A) (B) (C) (D)

96. Given below are four substitutions for the underlined part. Choose the correct alternative to make the sentence
grammatically correct.

Make haste lest you should not be caught in the storm:

(A) You should be (B) You could be
(C) You might be : (D) Otherwise you can be
[16] ' RSJUNX17




DIRECTIONS: In the following each passage consists of six sentences. The first (S1) and the sixth (S6) sentence are given in the
- zginning. The middle four sentences in each have been removed and jumbled up. These are labeled P, Q, R and S. You are
required to find out the proper sequence of the four sentences and mark accordingly in the OMR sheet.

97.

S1. Large part of Karnataka are located in the drought prone rain shadow of the Western Ghats characterized by low and
unreliable rainfall.

S6. Once water is made available for irrigation, the economic picture of the area would be transformed.

P. The project occupies a triangular area lying between Krishna and Bheema rivers.

Q. The upper Krishna project is being executed in the drought prone north eastern part of Karnataka about 456 kilometers
from Bangalore in the district of Gulburga, Raichur, Bagalkot and Bijapur.

R. The area though being subjected to vagaries of the monsoons has high fertile land.

S. The population in this area subsists mainly on agriculture.

The proper sequence should be:
(A) RSQP (B) PQSR (C) QPRS ; (D) PSQR

DIRECTIONS: In the following each passage consists of six sentences. The first (S1) and the sixth (S6) sentence are given in the
beginning. The middle four sentences in each have been removed and jumbled up. These are labeled P, Q, R and S. You are
required to find out the proper sequence of the four sentences and mark accordingly in the OMR sheet.

98.

S1. In democratic countries men are equal before law, and have a voice in deciding how and by whom they shall be governed.

S6. And they live like this not for fun, but because they are too poor to afford another room.

P.  While some few people live in luxury, many have not even enough to drink and wear.

Q. But with respect to sharing of money- which means the sharing of the food and clothing, and houses and books and so on
the system is still very unfair.

R. There are many families of five or six persons who live in a single: they sleep and dress and wash and eat their meals; in
this same room they are born; and in this same they die.

S. Evenin the finest of World's cities thousands of people live in dreadful surroundings.

The proper sequence should be: 7
(A) QRSP (B) SRPQ (C) QPSR (D) PQRS

DIRECTIONS: In the following each passage consists of six sentences. The first (S1) and the sixth (S6) sentence are given in the
beginning. The middle four sentences in each have been removed and jumbled up. These are labeled P, Q, R and S. You are
required to find out the proper sequence of the four sentences and mark accordingly in the OMR sheet.

99.
S1. Einstein was very simple in his ways of life and indifferent to his astounding fame
S6. So they went back to the Queen and informed her that he had not come by the train.
They could never imagine that this shabby man would be Einstein himself.
Once the queen of Belgium invited him to Brussels.
The officials also expected to see somebody who would appear to be rich and aristocratic before them.
When he got down from the train at Brussels, he could not think that there were actually many gorgeously dressed
officials to receive him at the station.
The proper sequence should be:

(A) PRSQ (B) RQPS (C) QSRP (D) SPRQ

P

DIRECTIONS: In the following question, an idiomatic expression/a proverb has been given followed by some alternative. Choose
the one which best expresses the meaning of the given idiom or proverb.

100. A bull in a china shop:

(A) A person who becomes too excited where no excitement is warranted
(B) A person who is rough and clumsy where skill and care are required
(C) A person who is very ugly but loves the beautiful things of life

(D) A person who takes a sadistic delight in harming innocent people

101. Find out the correctly spelt word.

(A) Controvercial (B) Contraversial
(C) Controversial (D) Contriversial
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102.

103.

104.

105.

106.

107.

108.

109.

There is a certain relation between two words on one side of sign :.. Choose the suitable option that has the clos'esi'
similar relation from the followmg alternatives. '

Sculptor : Chisel ::

(A) Pathology : Disease (B) Time : Seconds

(C) Tailor : Needle (D) Engineer : Site

There is a certain relation between two words on one side of sign ::. Choose the suitable option that has the closest
similar relation from the following alternatwes '
Soap : Cleanse ::

(A) Confession : Purity (B) Medicine : Disinfectant
(C) Towel : Absorbent (D) Cream : Smooth
Complete the sentence using the word or set of words for blank that best fits the meaning of the sentence as a whole. |
Iwishl ... a king.

|
(A) Was (B) Were '
(C) Am (D) Should be

Identify the incorrect sentence among the alternatives.

(A) He has been in bed since 6 a.m.

(B) The movement had gained popularity during 1984.

(C) The Prince got on his horse and went towards the palace.
(D) He worked in the morning till evening.

Choose the correct word to fill up the fol!owing sentence.

The officials have a habit of fawning ......... ministers.
(A) Above (B) At
(C) With (D) On

Choose the option that reports the following sentence in indirect speech.
He said to her, “Are you coming to the party?”

(A) He asked her whether she was coming to the party.
(B) He asked her if she will be coming to the party.

(C)- He asked her if she was coming to the party.

(D) He told her if she was coming to the party.

ldentify the incorrect sentence among the alternatives.

(A) 1 wish he was my son.

(B) He is a man of great courage.

(C) Nobody can stop me from winning the gold medal.
(D) What have you done to your moustaches?

Identify the incorrect sentence among the alternatives.

(A) What is the time by your watch?

(B) He will get a license at the age of eighteen.
(C) After tea we went for a walk.

(D) ltis five minutes to be 10 o’clock.

DIRECTIONS: This question consists of a capitalized word followed by four alternatives. Select the alternative that is o opposite in
meaning to the capitalized word.

110.

Hyperbole:
(A) Understatement (B) Undue —
(C) Lessen (D) Climax ‘

DIRECTIONS: This question consists of a capitalized word followed by four alternatives. Select the alternatlve that is opposite in
meaning to the capitalized word.

111.

Fragrance
(A) Perfume (B) Stink (C) Smell (D) Aroma
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’QIRECTIONS: In the following question, identify the correct reported speech from the given alternatives.

1._12. He said to his wife “How many people were coming to dinner tonight.”
(A) He asked his wife how many people were coming to dinner tonight
(B) He asked his wife how many people were coming to dinner that night
(C) He called his wife how many people were coming to dinner that night
(D) He narrated his wife how many people are coming to dinner that night

113. Find out the sentence in Passive Voice

(A) The judge convicted the culprit for his offence

(B) The culprit apologised to the judge for his offence
(C) The judge scolded the culprit for his offence

(D) The culprit was punished for his offence by the judge

DIRECTIONS: Mark, out of the four given choices, the correct meaning of the bold idioms phrases—

114. Dip one’s pen in gall-

(A) Seek support from others by one's writings

(B) Take decisive action to put an end to an undesirable situation
(C) Write spitefully

(D) Stay calm despite provocations

DIRECTIONS: Mark, out of the four given choices, the correct meaning of the bold idioms phrases—

115. A Judas Kiss—

(A) Affirmation of friendship despite differences

(B) Neutralized propaganda

(C) A daydream

(D) Act of betrayal especially one disguised as a gesture of friendship

DIRECTIONS: Choose the correct preposition, out of four options, to be filled in the blank of the following sentence.

116. He should not be covetous ........ others riches.
(A) on (B) off
(C) of : (D) for

DIRECTIONS: Choose the correct preposition, out of four options, to be filled in the blank of the following sentence.

117. Satish's errors may be ascribed ..... his carelessness.

(A) at (B) with
(C) for (D) to

DIRECTIONS: Against key word is given four suggested meanings. Choose the word or phrase which is opposite in meaning to the

key word.

118. Judicious

(A) Ambitious (B) Confident
(C) Sober (D) Imprudent

DIRECTIONS: Fill in the blank with correct preposition.

119. | have been living ......... Panipat ......... twenty years.
(A) In, since (B) at, for
(C) in, for (D) at, from

DIRECTION: In the following question, fill in the gap with correct preposition.

120. The property was divided the twins.
(A) Among
(B) Between
(C) In
(D) Into
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PART-IV / 91T - IV (Hindi Language /&=t =)
ﬁ%ﬂ:ﬁﬂﬁi@ﬁﬂﬁ%maﬂgﬁmwwﬁmﬂﬁaﬁﬁm |

121, O -
(A) 3TEIE FHTA arT Afth
(€) bE & Ry & o= wH e

(B) Foreeht &~ & e &
(D) & ¥ g &

P Fresfoe v & mery @ Ry o Reee B Mo ¥ o & o o e @ o AR

122. R & e sarem -
(A) o 1 fEsH s
(C) BN F Tl JH

(B) ST &1 ITHR FEAT
(D) &eT |1 Hei IRl

Ferdar: ?ﬁ%ﬁqwmﬁ%@ﬁam%aﬂwﬁawﬁﬁqwﬁﬂﬁﬁwgﬁm

123, forfr -
(A) ST & =8
(C) ®™ @l =T

Fréer: Fretfefee amera & few s @t agfe B

124. 3% 7AgaH H AN W F GHT A 8

(A) A3, B2, C1, D4
(C) A4, B1,C2, D3

(B) ST+ i 3T
(D) wgA F Fe=m

(A) fopar Tl argffea (B) fopam fagmor Tl argfs
_ (C) wdm T sAgfs (D) o wrdt argpfes

125, Frefefed 7 g 1 @ g 0 & gake s

o | (v=) @ll(wﬁamﬂ)

A gl LERETIR

B. dgmA 2, st fboer @l A Fa &

C. wigf 3. o g @l e &

D. e 4. U q@ e

(A) A4,B3,C2, D1 (B) A2, B1,C3, D4

(C) A3, B4,C1,D2 (D) A4,B3,C1,D2
126.@|(am)ﬂ@u(am%m@m)agﬁmﬁ|

gl () @"( =)

A. T @ 7 9gar o g ST

B. R ax # FE ey T & 2 farrse

c. =& & ord & 3. ek

D. & s M #18 a5 ¥eft sy 4. T

(B) A4,B2,C1,D3
(D) A2, B1; C3, D4

‘mmm%mwmwmﬁmﬁam.

127. foifasr

(A) meﬂaﬂﬁqﬁwa
N (C) S # Z=T 7 BT

(B) S & yET ZemT
(D)@rmwmﬁmwﬁ

ﬁ%w'ﬁqﬁmaw%maﬂwmwwﬁmﬁﬁml

128. aAY

(A) mwmmaa
(€) Frah #2 dwr 7 @

(B) X WY g T e
(C) q# WA W § wed & M o
(D) T VI F Tem § vt & M

‘ (B} ﬁm-mama#a-

(D) St ¥t oo 7 &
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frter Prafifed 9= & wEiEd oud 99 Ru T R & oR e gw qan-
@30. EELI]
(A) ¥ | (B) g1
(C) woeT (D) femiy
fry: Frefofaa a= @& fadm sae-
131. 37t -
(A) &d (B) fast
€ 3 (D) 9T9R
Frer: A R e aw § @it o= 3 IR gefE el R E we e g
132. 99 -
(A) Sl HT T
(B) WY % TgE F AN ‘
. (C) T < il o AW SEw #
. (D) &% § P TE
! 133. I99E | BE-T1 TAT B-
| (A) (B) 7
‘ © & _ (D) a4
Rt 19 R o ge & & o @ gfie & 9w B 0% gl Aigs g @ Rifed B
134.
(A) " (B)
(C) g _ (D) FH4
frfer: Py wed  Ru o 9= & guEMl o= @& @ A Ry g faeedl @ | s
135. g1 - ‘
(A) o : B) RwwErd
(C) T D) qm
Ry Frefofad wea § Reedl & @ 98 9= & =TI B
136. 9T FYT JTERT ... 2 -
(A) = (B) oA
(C) T oA (D) BRER
137. HRAR & @i =8 @ .
(A) BT ' (B) F+HTR
(C) HI+ET : (D) I+
138. TEeT (G 1) N o dw (T 1) § gARE B
1 (w) Tl 1 (de)
A. TRl 1. foy o
) B. r&Mrigax ' 2. s A FR
C. FHEEA 3. TmYrl e Rt
D. 9ad= 4. TAgHT qEE
(A) A1, B2, C3, D4 (B) A2, B3, C1,D4
(C) A3,B2,C4,D1 ° (D) A2, B3, C4, D1

Ry Pt o o % JEER & R TR e Ry 0¥ & oF ofe Rew @ e B

139. s &1 a:
(A & (B) e
(C) ¥& (D) 37 & FE T
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e e e it § Ry T Reedt § @ e 9= @ 99 S

140. :
(A) Sfts (B) W
(C) Hfe - (D) afem
fear: ﬁwﬁ%ﬁmﬁgmﬁ%mmﬁwﬁnm%aﬁﬁaﬁammmﬁml

141. 31 RER &1 -
(A P A (B) ¥ B

(C) g & : (D) 3w # &

142. IF-9FT 8T
(A) & § aFlt T (B) @Y & 9l B
(C) &t @t art &t ANT O E B (D) ¥&d s &

foder: P o & R o o v aP 3 e a1 @A gad M Ru e Reed § @ #h

143. fe® :
(A) e df (B) & dfy

(C) gf& dfy - (D) T &fy
Frder: Frfient sre & fore a1 Re o Reedt 3§ & Sugw weE Sad)
144, ATOTES w
(A) FHYRA (B) fay
(C) ag= - (D) &=
fder: Frerfifee w7 & Ru o= & A9 o arie Re e ® S A grn @ o) g
145, HEINT
(A) B 1@ TEr s
(B) S FHe & T B

(C) foraer i e § 9 &
(D) Fea & < R & s

146. 9IRT TR A B # Toww & w0 A H9 @i B

(A) 14 =i 1948 (B) 14 R 1949
(C) 14 fam=k 1950 (D) 14 fy= 1951
147. ‘TR TN qe-TH TEAR qg BT - dfF § A SEHR B AN L
(A) TTH FGHR (B) WY IHR
~ (C) TH HEER (D) T B
148. @ & WRd T ¥ 7@, wﬂﬁﬁaﬁmﬁ#wrﬁ’ qﬁaﬁﬁgﬁmwﬁqmﬁiﬁa&fﬁﬁmﬁu
(A) SfRmIRR ~ (B) T
(C) wy (D) &%

P Preefofa Al & onf Ree o Rt 3 § @ At
149. I o7 waRe I @i d "
(A) mﬁwmmﬂﬁﬁ

(B) Ulg 9 T 7 g% T % AT B AT
(C) et ¥ aifis = AT =Mfey

(D) ¥ q #g T

150. ﬁmﬁﬁmmﬁ%mﬁmww
(A) () @i
(C) & . (D) ==
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g1.ﬁmﬁ%ﬁmﬁﬁw%ﬁwaﬁﬁﬁﬂﬂ%%mﬁﬁ=ﬁm€fwmmﬂﬁm—

T () e
(B) 3ggd
| (C) T
| (D) S
152, Rfw- Rl (gt 1) 3 o dwE (G 1) & gafw =X
gt | () o (Few)
| A BTG 1. &Rdy T ge
| B. @ @ @i 2. AT :
C. T&ETH AR 3. WwER
D. g 4. WERA @i
(A) A1,B3,C2, D4 (B) A2, B3, C1,D4
7 (C) A4,B1,C2, D3 (D) A3, B4, C2, D1
] 153, ‘ger 9= § F-d g
‘. (A) HidmErEs : (B) rEErh
\I (C) SiifTe® (D) HfEdr
i 154. P Reedt § o @9 Ry 7§, ags o T

(A) SRR EERt & X BT @ e 2
(B) WX arN oFyd & HHM F B B
(C) A Rrm & orvwred & T AN
(D) HT et @ =9 I @ =@y
155, ‘Gube’ = 7 W 9= 41 AT 2- ' _
(A) JaH+HADe (B) e+IThg

(C) q+TFps (D) Te+FHs
Frder: e o= @ 9 Ro g feedl 3§ @ Suget avi-feds @ w B4
- 156. HEATH

(A F+g+J+HA+T+H+F+F
B A++FA+J+ A+ T+ HA+F+
C)A+g+A+J+AM++F+
D) FA+g+F+AT+T+A+F7+H

157. ‘AT G A B IIYT AT -

(A) EH (B) ST
(C) & (D) e
ﬁﬁrzﬁmﬁﬁamﬁﬁqmaﬁfaﬁraﬁaﬂﬁqﬁﬁgﬁm
158. wifa® :
(A) +arfae (B) M+3®
(C) TE+3% (D) =fa+%
ﬁ%w:%aﬁﬁ@mw%a‘rmﬁaﬁ%ﬁwﬁ%{f@awﬁﬁﬁqwmﬁ%mﬁﬁﬁwﬁmmm%ﬁm'mwm
T & wHa 3@ G- '
159. FF
(A) & (B) &gy
(C) T (D) &
160. ‘SuRmEr e @ 87
(A) T TR ' (B) werdl aut
(C) gl Bt (D) Fsft
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Answer Keys of 21.06.2017 Examination

Q.No.| Ans | QNo.| Ans | QNo.| Ans | Q.No. [ Ans
1 B 41 A 81 B 121 B
2 c 42 C 82 C 122 B
3 D 43 B 83 A 123 A
4 C 44 D 84 D 124 A
5 C 45 D 85 B 125 C
6 D 46 (& 86 C 126 C
7 A 47 A 87 B 127 B
8 C 48 A 88 B 128 B
9 A 49 C 89 B 129 B
10 B 50 64 90 B 130 D
11 D 51 D 91 G 131 B
12 & 52 G 92 C 132 B
13 B 53 D 93 A 133 A
14 B 54 B 94 A 134 A
15 D 55 B 95 A 135 A
16 D 56 D 96 A 136 B
17 B 57 A 97 A 137 B
18 B 58 & 98 & 138 D
19 A 59 A 99 C 139 A

20 A 60 D 100 B 140 C
21 C 61 B 101 G 141 5
22 G 62 C 102 C 142 D
23 D 63 D 103 B 143 A
24 G 64 A 104 B 144 &
25 D 65 B 105 D 145 B
26 G 66 C 106 D 146 B
27 B 67 D 107 C 147 D
28 B 68 & 108 A 148 A
29 B 69 B 109 D 149 A
30 C 70 B 110 A 150 A
31 A 71 B 111 B 151 B
32 B 72 A 112 B 152 D
33 B 73 D 113 D 153 D
34 C 74 B 114 C 154 A
35 C 75 B 115 D 155 B
36 C 76 C 116 G 156 D
37 B 77 A 17 D 157 B
38 B 78 C 118 D 158 B
39 D 79 C 119 G 159 D
40 A 80 B 120 B 160 B




